H & 0l & AHS B Ml A

20238 =0ila LEts|IH SSHME 1L
SN BEHZBD
3 FUFLEQ XHIistt SSH 78
tel: S5d SSH 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSHER L 8,288,360 12,155,854 A3,867,4%4
= 1,815,095
== 6,473,265
FOFEo NHItset SSH 8 8,062,881 11,999,786 /3,936,905
= 1,815,095
= 6,247,786
S5E SSH 243t 1,115,649 728,136 387,513
SHE =M SaAg =2 56,800 6,800 50,000
201 2egh=3| 6,800 6,800 0
01 At2t2ltl 6,800 6,800 0
OXNSsSH 243 42 =4 6,800
207 ARl 50,000 50,000
01 H2E4H| 50,000 50,000
Osd d=st lis2ela 2EMA 228 o
—ES 50,000
SSH At =THA OHE 19,065 46,800 N27,735
203 =4l 2,565 14,670 A12,105
03 A=A 2= 2,565 14,670 12,106
O=SH MY 2,565
308 XXM SOIA 16,500 32,130 215,630
01 XN B2 LS 16,500 32,130 A 15,630
OAl - 2 2=H XJHEH 28 XA 16,500
Ot SSH gdat 228,140 164,536 63,604
307 elzto| & 40,330 71,400 /31,070
02 2B YAIHE £ 40,330 71,400 231,070
OZSH ust2 )8l 24 40,330
308 AtXIEMSOIE 187,810 91,011 96,79
01 HAHHBSEXRS 187,810 91,011 96,79
Osts ll=ssH X&E 39,000
Ol Ss Exe| ARZAS(E2H
04) 19,110
-2/0t0] ALIX algEe 6,750
-MsSI1R A8 80 & SAHAL Us
SHA 6,360
-3t A= 0IS(02 AZAMEE2 ™) 6,000
OntsZsHoiciol 2483 N 50,000
Olt2usSSSH UERD SN2 AE 29,700
O=4tAl Dl uSESH 2498t At 50,000
DEAEIIFH =8 811,644 811,644
201 =3 803,300 803,300
01 At22t2l] 803,300 803,300
OLEAEY JIFH 243t 82 =& 203,300
OLEAEY JIFH s 7 600,000




SN BEHZBD
ZM: FoIFCo| X&INsE ZSH P
el SEE SSH 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 8,344 0 8,344
11 SIS0t oA AS A 8,344 0 8,344
ODFMIISH SHB2AAY RT22
2 29 8,344
s ~2SEHSA &9 & 29 1,020,000 5,071,250 24,061,250
= 1,000,000
= 20,000
ASEHS = 1,020,000 5,071,250 4,051,250
= 1,000,000
= 20,000
201 2egh=3| 20,000 0 20,000
01 At2t2ltl 20,000 0 20,000
OASEeE 32 &4 20,000
307 elztol & 1,000,000 2,000,000 1,000,000
= 1,000,000
05 2ItRIE = 1,000,000 2,000,000 1,000,000
O4Sg=32 &d 1,000,000
= 1,000,000
QI X2 762,893 706,360 56,533
COMOtE WE K& 59,500 64,949 A5,449
308 AFAIEHMSOIE 59,500 64,949 A5,449
01 XN EES 59,500 64,949 Ab,449
COMOE SRS 59,500
SgeldusAg =2 28,280 33,599 25,319
308 XXM SOIH 28,280 33,599 25,319
01 XN BSELES 28,280 33,599 ~b,319
OsdeldsAY K& 28,280
MOFSAIEX TS dsts X 35,763 66,177 A30,414
308 AHAIEMSOIE 35,763 66,177 A30,414
01 HRHHBSEEXS 35,763 66,177 A30,414
OMOts X=X A4 Ess K& 36,763
MOtSEH SdXI2 286,600 212,330 74,270
307 212+01™ 176,600 129,330 47,270
02 LB HANHEE 26,000 28,200 2,200
OMOISR=D12 IMEIE 8,000
OY-9W SEEZEMOIIS2S 54 8,000
OadH MOISAZA 28 XA 10,000
03 PIZAHHEE 22X 100,000 50,000 50,000
OE3ELE MOtss 2¢ 100,000
04 QIZIHAIAIH E X 50,600 51,130 2530
OMOts d3dezs gd3t 2 36,000
OE=SMBL SEU XA 5,600




SN BEHZBD
ma: =0IxCO| N2Jiss 2SH P
SR 2I2EERH X1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMOI==2H2 At X3 10,000
308 AXIMSOIA 15,000 25,000 10,000
01 XN BSELES 15,000 25,000 10,000
O3 MOESXa BHASEES N2 15,000
403 AXIEHHSAH=Z01d 95,000 58,000 37,000
01 MHXIHHA 22X 95,000 58,000 37,000
OK&Al MOtS 22t 2182 23 At 65,000
OEdAl =dH MOISX3 Jls2Z A 20,000
OETAl £24E MOISXIa 2dst At 10,000
HiEANdII2S 2M |4 91,645 87,645 4,000
307 el2to| & 76,645 76,645 0
03 2 HEE2SHIEX 55,000 55,000 0
oti2idlzs s8€E823 2¢ 55,000
04 QIZHHAMAIH 2 £ 21,645 21,645 0
ogtziazs ddtial X3 18,000
OuSH& 23 ot Anel X2 3,645
308 AXIMSOIA 15,000 11,000 4,000
01 XN BSELES 15,000 11,000 4,000
Osdz Hizidllzs g5 NE 15,000
A=ESHY =Nl =4 233,920 214,475 19,445
307 @120l & 213,920 214,475 AbB5b
02 QA AAEE X 6,120 6,120 0
OS<UHl FAYE gFAlEl s & otEsH
& st 6,120
03 LM EE2SHIEX 185,000 185,000 0
O =A=Edd SHgENR 29 185,000
04 QIZHHAMAMH 2 & 22,800 23,35 A\555
Oltm+z N=X 2202 N&A 8,100
OXt==35 3|8t SN 7,500
O&ILISAIHEALIX SE0a X 1,200
Ogsgstsd sd3gs A 6,000
403 X SHHMSAH=01H 20,000 0 20,000
01 AXISHHA =2 £ 20,000 0 20,000
Ot=A=EHY OAINIR JISEY Al 20,000
g0 753 M A 4,000 4,000
307 gl2to| & 4,000 4,000
04 QIHHAMAIH 2 £ 4,000 4,000
O&THMdHell & 2, Al 2AAHAL 4,000
ArRlEtHl |4 XI& 23,185 23,185 0
201 =3 5,185 5,185
01 At22t2lt] 5,185 5,185
O=02HH TXAL ZEE(H) HE S 5,185




SN BEHZBD
M F0IECO| N&IHsE REX P&
el QIZEER XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 18,000 18,000
02 2B YA HE L 18,000 18,000
Og=st IsHUSI| IS AEs K 18,000
AHSAH 23t 2,207,862 2,289,429 A\B1,567
= 600,595
= 1,607,267
N SAEEEAE (ANZZ /28 R) 65,595 68,238 N2,643
= 65,595
308 AXIHSOIA 65,59 68,238 2,643
= 65,595
01 RSN EES 65,59 68,238 A2,643
OX =SSN SAEE NS AMEIATIRE 65,59
= 65,59
NASAZLSHKI (S/200) 97,400 92,900 4,500
= 48,700
= 48,700
307 212+01& 97,400 92,900 4,500
= 48,700
=S 48,700
02 2IZHB A E & 97,400 92,900 4,500
OXASAIZLUIOIE K& - SE(HH) 97,400
= 48,700
< 48,700
SRR (AZ3a/20) 486,300 464,550 21,750
= 486,300
308 XXM SOIA 486,300 464,550 21,750
= 486,300
01 XN EES 486,300 464,550 21,750
OXASAIZCIUIOIE R H(AIZHE) 486,300
= 486,300
ANZ NESAHES XI& 844,846 936,020 A9, 174
308 AtXIEMSOIE 844,846 936,020 A9, 174
01 X SHHEAEES 844,846 936,020 A91,174
OAlZTHASAEH 29 360,400
OAIZ A SAE 22X MRS 5,760
OH3 AHEUSAHESAL 23 36,000
OSHE NEASA HEHE 2 219,126
Og=0tE 20Ul 24 223,560
T NESAHHE =4 713,721 713,721 0
307 212+01& 713,721 713,721
02 2B HAHE L 193,468 193,468
O TH2SAHHE A X2 193,468
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SN BEHID
M Y RAFH(SSHME)
CHel: JI2gd(SSHA) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 34,969 38,148 A3,179
01 =WHO4bI 34,969 38,148 A3,179
O3=d&E=t 34,969
203 PYRF=&IH| 3,780 9,720 25,940
M EAM2IHRFA| 3,780 3,780 0
O=sHEHY JRFX 3,780




